+Algebra 2/Trig

Trig |dentities WS (6.1 & 6.2)

Name:

Simplify.
1) sin X
1+ cos x

+ cot X

Verify the identity.
4) tan x —sin(—x)
1+cosx

=tanx

1-sinx
COS X

6) secx —tanx =

cosd -1
sin@

sin@
cosé@d +1

7)

csc?x—1
== 2~ —cos? X

csc? x

3)

1—tan® x

SiNnX+COSX €OSX—sinX

sin X

COS X

cos? x —sin? x

=SEeCXCSCX



T —
8) tan[E—Hjsecezcsca 9) _C0s(=x) =sec X+ tan x

1+sin(—x)
secdsind . ,
4y 2 — cnt? ———=sin"0
10) csc* x —2csc® X +1=cot* X ") tano+coto
12) secd tanéd 1+sec(—X)

_ -1 : = —CsCX
cosé cotd 13) sin(—x) + tan(—x)




